



**07/08/2023** 09:00 AM | DELIVERY TIME TBD **07/08/2023** 11:00 PM | STRIKE TIME TBD

P0:

Shipping Address: Montage Laguna Beach 30801 S Coast Hwy, Laguna Beach, CA 92651

RECEPTION IN BALLROOM

POINT OF CONTACT: THIDA (562)

253-3717

EUCHARIS STUDIO 17951 Sky Park Circle IRVINE, CA 92614

Invoice Date:

Due Date: Upon Receipt

Salesperson: California Villanueva

Bustamante

Description		Qtty	Price		Total
ADDITIONS					
	Bars - Montreal - Mirror Front 6'4" 6'4"W x 29"L x 41"H	1	\$594.00	Т	\$594.00
	Bars - Las Vegas - Multi Mirror Silver 8'W x 30"L x40"H	1	\$825.00	Т	\$825.00
W	Dj Booths - Shanghai - Reclaimed Wood 6'W x 56â® № 1948â® ® H	1	\$605.00	Т	\$605.00
			Total ADDITIONS		\$2,024.00
RECEPTION					
	Dining Chairs - Monaco - White Wash  17âN M âN XX XX 9âN M âN XX 38âN M âN M SHEAT DIMENSIONS 18âN M âN M X19âN M '	100	\$27.50	Т	\$2,750.00
	Dining Chairs - Aspen - White Wash W/ Oatmeal Linen THE REST ON RHODE ISLAND QUOTE	199	\$27.50	T	\$5,472.50
	Dining Chairs - Aspen - White Wood W/ White Linen	230	\$27.50	T	\$6,325.00
A P	Dining Chairs - Shanghai - White Wash Wood W/ Oatmeal Linen Cushion REST. ON ANOTHER ORDER	30	\$22.00	T	\$660.00
	Dining Chairs - Shanghai - Wood Frame ALL STOCK AVAILABLE	135	\$22.00	T	\$2,970.00

Description		Qtty	Price		Total
	Serving & Display Carts - Moscow - Oval Serving Cart 28"W x 18"D x 30"H	1	\$165.00	Т	\$165.00
			Total RECEPT	ION	\$18,342.50
HEAD TABLE & D	DINING TABLE				
	Dining Table - Las Vegas - Colored Top 8'x40" WHITE LACKER TABLE	18	\$385.00	Т	\$6,930.00
		Total HEAD T	ABLE & DINING TA	BLE	\$6,930.00
SATELLITE BARS	3				
	Bars - Sedona - Light Marble	2	\$440.00	T	\$880.00
		-	Total SATELLITE B	ARS	\$880.00
CENTRAL BAR					
	Bars - Boston - Complete Oval 16' - Metal	1	\$3,300.00	Т	\$3,300.00
			Total CENTRAL E	BAR	\$3,300.00
BARBACK OPTIO	ONS				
	Barback - Bora Bora - Gold (3 Piece Set)	2	\$176.00	Т	\$352.00
	Barback - Munich - Chrome W/ Glass Shelves & Base	2	\$176.00	Т	\$352.00
	Barback - Palermo - Metal	2	\$286.00	Т	\$572.00
	Barback - Santorini - Floating Shelves	2	\$242.00	Т	\$484.00
		Tota	BARBACK OPTIONS		\$1,760.00
COCKTAIL- AFTE	ER PARTY				
	Bars - Chicago - Wood 8' ONLY 2 AVAILABLE	2	\$880.00	Т	\$1,760.00
	Bars - Monaco - Straight Beveled Edges 8'	4	\$880.00	Т	\$3,520.00

Description		Qtty	Price		Total
	Barback - Palermo - Metal	4	\$286.00	Т	\$1,144.00
	Barback - Tokyo - Straight Basic 6' - Metal	4	\$264.00	Т	\$1,056.00
34. 34	Dj Fronts - Aged Tile Front	1	\$385.00	Т	\$385.00
		Total COCKTAIL- AFTER PARTY			\$7,865.00
COCKTAIL AFTE	R PARTYLOUNGE VIGNETTES OPTION 1				
The second second	Sofas - Cape Cod - Tufted White W/ Wood Panels 6'	4	\$412.50	Т	\$1,650.00
	Club & Lounge Chairs - Segovia - Side Chair White	6	\$176.00	Т	\$1,056.00
8	Accent Table - Santorini - Carved ONLY 4 IN STOCK	4	\$88.00	Т	\$352.00
8	Coffee Tables - Santorini - Round Carved	4	\$236.50	Т	\$946.00
	Total COCKTAIL AFTER PAR	TYLOUNGE VIG	NETTES OPTIO	N 1	\$4,004.00
COCKTAIL AFTE	R PARTY LOUNGE VIGNETTES OPTION				
	Sofas - Siena - Off White W/ Wood Base 6' 6'W x 36"L x 31"H	4	\$385.00	Т	\$1,540.00
The section of the se	Club & Lounge Chairs - Bora Bora - Club Chair 28"W x 33"Wx 33âM MH NOTE - ONLY 4 AVAIL	4	\$165.00	Т	\$660.00
	Club & Lounge Chairs - Bora Bora - Accent Chair 26"W x 27"L x 33â\\ \text{H} NOTE - 8 AVAIL.	8	\$55.00	T	\$440.00
	Coffee Tables - Rome - Round - Off White	4	\$242.00	T	\$968.00
	Accent Tables - Rome - Round 01 - Off White	8	\$165.00	T	\$1,320.00

Description		Qtty	Price		Total
	Total COCKTAIL AFTER PART	RTY LOUNGE VIGNETTES OPTION			\$4,928.00
COCKTAIL AFTI	ER PARTY LOUNGE VIGNETTES OPTION				
	Coffee Tables - Fiji - Glass Top & Wood	4	\$165.00	Т	\$660.00
	Sofas - Palermo - Natural 8' 8'W x 28"L x 31"H	4	\$440.00	T	\$1,760.00
	Club & Lounge Chairs - Palermo - Club Chair Natural 31"W x 31"L x 29"H NOTE - TOTAL OF 8 BUT 1 IS BEING REPAIRED TBD	7	\$165.00	T	\$1,155.00
	CLUB & LOUNGE CHAIRS - PALERMO WILL BE REPAIR BEFORE THTE EVENT	1	\$165.00	Т	\$165.00
	Accent Table - Madrid - Fuji Marble Top 13"Diam x 22"H	8	\$110.00	T	\$880.00
	Total COCKTAIL AFTER PART	TY LOUNGE V	IGNETTES OPT	ION	\$4,620.00
Services					
	LABOR + DELIVERY TBD LABOR COST WILL APPLY ONCE ITEMS HAVE BEEN FINALIZED.	1	\$0.00		\$0.00
Please make checks payable to Revelry, Inc.			Total Produ	cts:	\$54,653.50
Note: Prior to deliveries and pick-ups all invoices must be pay in full		Total La	bor/Services/M		\$0.00
	contract and sign it		Tax Discou	es : nts:	\$5,192.08 (\$0.00)
Notes	S NOT BEEN APPLIED UNTIL ITEMS HAVE BEEN			otal:	\$59,845.58
FINALIZED.	S INOT DEEN APPLIED OINTIL HEIMS HAVE REEN		Payme		(\$0.00)
			Balar	nce:	\$59,845.58